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Which of the following are the characteristics
of adult learners?

2 I st fafafiaa o 9 &= o
fagreamd g7
(A) Physiological growth/SRR{shaTah glg

(B) Increased focus of _activities with peer
group/TUehel TWUEl o WTY LS

T 2

Exercise self control/31meq f=roT

\P) Ability to act rationally/dddTd ® H

(E) Learning to be independent of guidance
and control/ AR =T

Teh BT STfEU)

Choose the most appropriate answer from the
ngt on gwen be ow:

aﬁf&fq
(a) (A)and (B) only/&dd (A) afn: (B)
(b) (B) and (C) only/&de (B) 3N (C)

fasredi & 9 wad IUYThH I @

(c) (C)and (D)only/®ad (C) 3L (D) D)
(d) (C), (D) and (E) only/ &ad (C), (D) 3R (E)




Which of the following are the characteristics
of adult learners?

e [ st f=fefiaa @ o i &
fergreamd g7
(A) Physiological growth/SRfshaTa: gieg

(B) Increased focus of _activities with peer
group/AUehe] WUl o @I T

afereh &ar 2=

(C) Exercise self control/3TTeq fazi=r

(D) Ability to act rationally/dhdTd ®q |
ST I I ATIAT

(E) Learning to be independent of guidance
and control/

Tk g1 =R

Choose the most appropriate answer from the
option given below:

fau ¢ fawcat @ @ WaW IUGTh IO @I
TG hifoIu:
(a) (A)and (B) only/&ad (A) 3R (B)
(b) (B)and (C) only/&dd (B) 3R (C)
(c) (C)and (D) onlymﬁ (C) K (D)
(d) (C), (D) and (E) only/ &a@a (C), (D) 3R (E)

Ans_(_c)_ﬁ'éaﬁwaﬁﬁm%}
> 3 f w-ffim 2

U e wv Q3 w0 ) dm
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> I R A & a1 I A 2
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Given below are two statements: N>
Hi=r @ g farq T B

Statement I : A teacher should ensure that /
learmng is shifted awav from rote method.
fotarer @t @ig GATAa &dT ey T

mm(mw)ﬁﬁ:ﬁfgiﬁl

Statement II: A teacher should connect
knowledge to life outside the school.

wHaT [1: et & A9 @ e 9 9w &
Sfa= % wrer wrg W SR

In the light of the above statements, choose the
correct answer from the options given below:

IUNTh YT & It W, e fau o faewmeat

o O & SO R 999 @it
\}a‘( Both statement I and statement Il are true/
HA | 3R 11 4 I 2 |
(b) Both statement I and statement II are false/
HAF [ 3 11 1 379 g
(¢) Statement I 1s true but statement Il 1s false/
FI9 | T & dAfhd HI9 11 379HF 2|

(d) Statement I 1s false but statement II is true/
FA9 [ 379 2, AfpT 99 [ 9 21




Given below are two statements: - '

: Ans. (a) : ﬁﬂ#sﬂaﬁmwawm%ﬁmuam
:&aaam@“ﬁ' mﬁa%ﬁsﬂwﬁ@wq&smm
Statement 1 : A teacher should ensure that :
learning is shifted away from rote method. ﬁT&ﬁ m , ﬁ'l&ﬁ aﬂ 92 ﬁﬁﬁ]ﬁ il EIT[%T[ EAl
w1 : Ry ot 8 ghfyA a0 TR & |14 @ @ @ ﬁi‘%ﬁlﬂ WA & 2 T

e Cuey ) Wi S s T JH, B mﬁanmaﬁanﬁmamiﬁﬁmﬁ
Statement II: A teacher should connect :
knowledge to life outside the school. R{AE7 313[ 7l el 3 qle{ % ofad 9§ 3“3, | ?IT%QI
HAT [I: Toreres &t 79 W WA AT &
e & | wrerg & W

In the light of the above statements, choose the
correct answer from the options given below:

IUAITH HUF & ITeiieh |, Hrer fau o faameat
o o WE 3T T T Sifo:

(a) Both statement I and statement Il are true/
& 1 3 11 g4 99 2|

(b) Both statement I and statement Il are false/

FI9 1 3 11 ST 379 2|

(c) Statement I is true but statement II is false/ P 5
FU9 1 T9 € A a9 11 319 2| Easy Notes 4u ||

1 . Online Stud e -
(d) Statement I is false but statement II is true/ ad
FI9 | 3799 8, Afhd F99 11 94 2|




In student centred approach, a teacher: @
W-'aiﬁ-ﬁﬂ U | :

(a) maximizes use of extrinsic rewards

T T a1 o @ aifi 3T e 2
\(17/ encourages students to take Increased
responsibility/ B & s fFwRId o9 &
fere. Sieafed 4 2|
(c) uses appropriate teaching-learning materials
for effective teaching/ﬂ‘ﬂﬁ'l fret g fou 3fed
Rregor-aafer SRt &1 3T & 2
(d) teacher tries to relate present with the
past/[Ti I # BIEIR! T g gEg
T F T & 2|




l;;u;ig; c;::gl gp ruach a teacher: J ) W o g g
(a) maximizes use of extrinsic rewards ﬁ Eﬁ il é-fﬂ é m &l q
T TR 31 i 3 3w v a3 T R i

nﬁrﬁfﬁ (o kA
(b) encourages students to take ncreased et &t am @Wﬁ ﬂ?ﬁ foge o
o ;

responsibility/&7 # v fower o & o 35 o) W o e Wﬁ A 57 m
(c) Essmrft? téelachlng learning materials 1 & ﬁm W@ﬂ 1 % @ R AL
for effective teaching/Srd! e i kG ? Fomted 4 & fe, e e 21
g st b . LN
(d) teacher tries to relate present with the Q)”"' —

pasuﬁmaﬂmaﬁw%m —
! 1 YW I 2 % =7 \"}'}/
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The objective of reflective level teaching is:\
foreryff vt & e &L @ 3g99 ¢

(a) To impart knowledge to the learners.

S @ T e
\(y To develop isight into the learners to solve

problems /T & WA & fou
feeeRien ¥ g1 faeH F

(c) To make students relate facts with the
principles. /S 2 o e B et O )
g, & & (oL T

(d) To encourage students to apply knowledge in
similar and different situation./SF & I I

e 3R fim fuft § mm @ §F fou
Sided &l




The objective of reflective level teaching is:
fermoff e o foveror et e 3gva 7
(a) To impart knowledge to the learners.

femaian 3 9 Yo F

(b) To develop mnsight into the learners to solve
problems. fesice: 62 S v 5 L
Hfﬁ?ﬁﬁfaﬂ ¥ 31 faefd &

(c) To make students relate facts with the
principles./B & 7 & figid & WY
T4g & & fo T

(d) To encourage students to apply knowledge in
similar and different situation,/87 & FH &

TH A fm fefy § wm & &
Yirfed & |

/[

Ans. (b) : V4

fereff T & fiwn 1 3893 2-

y T & TN & fou sfemedd § g
foafm &

> A ¥ T 3R e 9 e S

> A § @ fia ok fvlg o & e @ fasm
caolf




Concepts that are not amenable to operational
definitions are known as:

M Ao wfraree uReen @ and
Tl 3 £, 3 0 el ¢/

(a) Theoretical concepts/ i Fareay
(b) Hypothetical concepts SRR Fehetl

@

v4

(c) Conventional concepts/TRU ETI
(d) Inferior concepts/ HeFeaTd




Concepts that are not amenable to operational
definitions are known as:

T HawA i s & i
TR T ¢, 3 0 el ¢

(a) Theoretical concepts/ﬁﬁm el

(b) Hypothetical concepts/ TRHCTIHE Fehed
(c) Conventional concepts/TRUE Hed

(d)  Inferior concepts/F HeFeamd




A scientific approach in social science research @

should take into account
ATt fas g ° e Iumy o fae
ATl el AT TEAT ATRU?
(A) Metaphysical elements/@aHTaiHT Taaa
(B) Spurious relations/3TWaTUTeR Hafer

\/(C) The factor of co-variation

Wg-uliad= &1 &l
\/D) Time order/ehTel ohH
\)B) The possibility of theorisation

fagidientuT st FaTa=T

Choose the most appropriate answer from the
options given below:

Hrer fau o fameat W @ WE S @ wEA
e
(a) (A), (B), (C) only/&ad (A), (B), (C)
(b) (B), (C), (D) only/&& (B), (C), (D)
\7” (C), (D), (E) only/dae (C), (D), (E)
(d) (A), (B), (E) only/&a (A), (B), (E)




A scientific approach in social science research
should take into account

qmTaes fasm vier § st IumTH § faRA
ATAl ST AT TEAT =g ?
(A) Metaphysical elements/dcaHiaida Taaa
(B) Spurious relations/3T9HT{UTeh Haier
(C) The factor of co-variation
Wg-ufiad= &1 &N
(D) Time order/ehTeT hH
(E) The possibility of theorisation

firgidtentor &t GTaaT

Choose the most appropriate answer from the
options given below:

Hror fou o fawent ® @ W I @ wEA
T -

(@) (A), (B), (C) only/&a@ (A), (B), (C)

(b) (B), (C), (D) only/da (B), (C), (D)

(¢) (C), (D), (E)only/&ae (C), (D), (E)

(d) (A), (B), (E) only/&dd (A), (B), (E)

0

/ :
s, (¢) ; Ao Ty ¥ a9 foft @ A e
7% ¥ a0 w fofe & g R deed
Ve WP 21 300 SRuadd @, e
o1 Rrgifia @) GuE A W W 3 1A 2




Given below are two statements : m
frer g waw feu 7@ #: A

Statement I: Manipulation and control are two
important possibilities in natural science

research.
aaml%'rﬁ?(aﬂrﬁuammaaﬁmﬁvﬁu/ (JM \Mg}

@i S Hgeagul TUTa=Ta 2| A4 1,

Statement II: Not many phenomena can be
manipulated and controlled by social scientists.

HAT [1: 9T faarf== gry &hg_="edarsi et
TRT 3T faisror = femar =i weasar 8

In the ﬁght of the above statements, choose the
correct answer from the options given below:

IULTh A o ATeleh |, e fau o faweat

o q WEl 3T &l a9 HITAT: @

\yf) Both statement I and statement Il are true
Hg9 [ AR 11 & IF 2|

(b) Both statement I and statement Il are false
F99 1 3R 11 AT A9H 2|

(¢) Statement I i1s true but statement 11 1s false
F99 1 99 € dAfehd H99 11 318 2|

(d) Statement I is false but statement II is true
FAT | 3TAF 8, AfhT A9 11 97 2|




Given below are two statements :
Hrer 2 waa fau o &

Statement I: Manipulation and control are two
important possibilities in natural science
research.

HAT I: BTk A TE=r urehfaes fas= o vner
i S AEAYul HHTa=Td 2

Statement II: Not many phenomena can be
manipulated and controlled by social scientists.

HAT [1: 9urH faarf=an gur ohg "earsi o'
BT 3T f=or S femar =T wehar 21

In the light of the above statements, choose the
correct answer from the options given below:

IUh KT o el |, e fau o fawmear

o | &l 3T &1 999 R

(a) Both statement I and statement Il are true
FHIF 1 3R 11 241 T 2|

(b) Both statement I and statement Il are false
FI9 1 3R 11 S 379 2

(c) Statement I is true but statement II 1s false
FHAT | GF 2 AAfehd H99 11 379 2|

(d) Statement I is false but statement 11 is true
FHI | FTH 2, AAfhd HA9 11 T 2|

Ans, f6) : TR 3R fm wgis fogm d m @ @
TRy HTETE 3 9 A e W o o
T 2| TS RFE H AR S a7 2 Zurn 39
s foge g 3wt fawr § swam T fE W 2
3 T [ 70 &9 11341 59 21
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Identify the correct sequence of steps in the

research process as identified by David
Nachmias:

Juftrare grnr oifusra gner ufear &
o TEl ohT it UgATT il
(A) Research design/9Ter 3rfiahea
(B) Data collection/STeT qug J

(C) Formulation of hypothesis
gR&EIAT T

(D) Data analysis and generalisation/
greT faversur iR wmar=fies

(E) Problem identification/Ta&aT sl Uged

Choose the most appropriate answer from the
options given below:

Hrer feu 7o faeeut @ O W IEX @ wEA
ﬂ'ﬁ‘l’l{:

(@) (A), (B), (C), (D), (E)

(b) (B), (C), (D), (E), (A)

(c) (O), (D), (E), (A), (B)
(d) (E), (C), (A), (B), (D)




Identify the correct sequence of steps in the

research process as identified by David
Nachmias:

sfag “=ftame grr sifusma v wfekear o
SO o WEl Th St UgeIT ahil
(A) Research design/9Trer 31fianca
(B) Data collection/STeT €Ug
(C) Formulation of hypothesis
<l
(D) Data analysis and generalisation

12T favarsur 3T wraT=fienTuT
(E) Problem identification/TH&T sl Ug=T=

Choose the most appropriate answer from the
options given below:

Hrer fau 7o faweur @ ¥ W WX @ wOA
ﬁﬁs’rq:

(@) (A), (B), (C), (D), (E)

(b) (B), (C), (D), (E), (A)

(¢) (C), (D), (E), (A), (B)

(d) (E), (C),(A), (B), (D)

Ans. (d) : fae Tafam g sifigm my e & =
& T F 2-

> U i Gg9H |

> Iftheqar &1 fauim

> Y e

» STeT/ HAihel U7

> 21T faveyur 3 grriir

=
v ”IE

j - _\
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Match List I with List I11:

gt 19 gt 11 &1 e sife:
List 1/4=f 1 List 11/&=H 11
Paradigm/gfaar= Advocate/AUdH
(A) Positivist/ I) L. Thompson 4
) \ /4) pson/T
(B) Interpretive/ (1)) Stuart Hall/ =2are |
TS e

™.

(C) Critical/ III) Max Weber/
n'nzr&m—na: %am

(D) Feminist/ T-ITﬁ‘éTcﬁ\ (1V) Auguste Comte/

Choose the correct answer from the option
given below:

Hrar fau T faweat @ 9 w6 I @ wEA
E»ﬂﬁ"l'Q:

(a) (A)-(1), (B)- (II), (C)-(1V), (D)-(I1I)

(c) (A)-(II), (B)- (IV), (C)-(1), (D)-(11)

(b) (A)-(II), (B)- (I1I), (C)-(IV), (D)-(I) \/
(d) (A)-(IV), (B)- (I1I), (C)-(11), (D)-(1)




Match List I with List I1:

=it 19 =it 1 & e st

List I/3=H 1

List /&= 11

Paradigm/Sfaar=

Advocate/AHYh

(A) Positivist/

(I) L. Thompson/Ue.
arE

(B) Interpretive/ (I1) Stuart Hall/ ‘{'-3"34{
AATEITHh Eﬁﬁ

(C) Critical/ ) Max Weber/
trnlrm %mzr e

(D) Feminist/ T-ITﬁElT-ﬁ

(IV) Auguste Comte/
ANEH i

Choose the correct answer from the option

given below:

Hrer fau 7o faweat W W wWE IWC @ WA

AL LE
(a) (A)-(I), (B)- (1I), (C)

-(1V), (D)-(I1I)
(b) (A)-(ID), (B)- (I1I), (C)-(1V), (D)-(1)
(¢) (A)-(I), (B)- (IV), (C)-(I), (D)-(11)
(d) (A)-(1V), (B)- (I1I), (C)-(11), (D)-(1)

a* J v ==
- || Easy Notes 4u l é
Online Study * =
- N
e
T TR




Source credibility in communication enables: @
;rmmﬁa‘maﬁ fasertranT frdt A & fﬁ//
(a) Gate keeping/aR-aetd 9&
_(b) Massage acceptance/ﬂ’%?l-
(¢) Semantic jugglery/\’ﬂ'wrl ROICE E]
(d) Controlled frames of reference

w3 ffi A




L \ -
The sequence of barriers to reception \\
classroom communication is: i )
T m " wlawgwr & foro amemen &t
(A) AttltudeslaTﬁTqﬁl?JT
(B) Anxieties/far=mt
(€) Expectatmns/aﬁaﬂﬁ v

(D) Needs/am v

Choose the correct answer from the options
given below:

Jrer fou U fawew ® ¥ WE I @ wwd

IS
(a) (A), (D), (C) (B)
(A), (B), (C), (D)

(¢) (B).(C). (D
ﬁmﬁ\/




Match List I with List I1:

Tt 1 ¥ g 11 @ e st
List /gt 1 List 114G 11
Type of Example/
communication/ ECFLLI
AW &% YN
(A) Phatic/tfee | (1) Touch/mast

gB) Grapevine

(II) Decoder becomes
encoder
g

%C) Tactile//

(1) Informal, sometimes
rumour mongering/

 uft-medt
m—ﬁﬂﬁ-@_
(D) Feedback/ V) Small talk/aTgt &
Wigdd —

—

Choose the correct answer from the option

given below /e few forreat o ® W I

CABDERCI I
(a) (A1), (B)-(II), (C)(IV), (D)-(I1)
(b) (A)-(11), (B)- (IV), (C)-(I1), (D))

/

Y

(1
() (AR(1V), (B)- (1), (C)-(T), (D)-(1I)
(d) (AM), (B)- (IV), (OAI1), (D)}-1)

> W
J g

772 = \ v EMlg
- || Easy Notes 4u I %
Online Study * =
= - "\'




Match List I with List I1:
Tt 1 ¥ g 11 @ e st

List /gt 1 List 114G 11

Type of Example/

communication/ ECFLLI
T & Yo
(A) Phatic/%fea | (I) Touch/®agt
B) Grapevine/ | (II) Decoder becomes
5'13!3-'-! encoder

a9 AT

Choose the correct answer from the option

given below/=! fEQ LY faeni 0 @ e I
CABDERCI I
(a) (A)-(I), (B)- (1), (C)-(IV), (D)-(11T)
(b) (A)-(I), (B)- (IV), (C)~(IH), (D)-(I)
(¢) (A)-(IV), (B)- (IT), (C)-(T), (D)-(IT)
(1), (B

(@) (AX{I), (B)- (IV), (CHID, (D))

yan

C) Tactile/

(1) Informal, sometimes
rumour mongering/

, deft-anoft
HEHATE- AT - I 7h

(D) Feedback/
Wigdeh

(V) Small talk/2Tt &ma

Ans.(c):ﬁ?ﬁ&:’lﬂﬁﬂaﬂq &
o e 7

fwEd o

Teds fadas doad a9 I 2




The rates of simple interests in two banks A
and B are in the ratio 5 : 4. A person wants to
deposit his total savings in two banks in such a
way that he receives equal half yearly interest
from both. He should deposit the savings in
banks A and B in the ratio:

Ammﬁﬁmm# S:4
I W g, Tk i AU A aod g e
T 30 YehR W1 AT WTEl § foh O AT aehi
W T aTia! ST ol I O aerd
T q el A IR B H TR U § T
=nfgu?

b) 2:5

} \/Ed) 54




respectively. If the contents of three glasses are
poured into a single vessel, then the ratio of
water to milk in the new vessel is:

@ﬁﬂﬁt%ﬁmﬂ?ﬂ?‘ﬁlﬁﬁmﬂ:l
5:4 30 7: 6% U T W g E, oW e
TATAT @i AT Uk S W ISt ot W At 39

4 5 7)(3 4 6
o b3t

7 9 13)\7 9 13
o (L34

34 6)\4 517

(c) (l+1+l):(i+§+ZJ

@[zigégzg\//

. | Three glasses are filled with a mixture of milkl
and water in the ratio 4 : 3,5 :4and 7 : 6 @

T 9 13JAT 9 13




Three glasses are filled with a mixture of milk Ans. (d) : W\ W
and water in the ratio 4 : 3, 5:4and 7 : 6 fire | Sﬂ'{ql?ﬂﬂﬂqﬁ

respectively. If the contents of three glasses are ﬁl?lm S T 45
poured into a single vessel, then the ratio of - $ T =
water to milk in the new vessel is: firer 3 1 T A @

0 ol e 3 Pt i e (43,0 | T e 4w o add 4 3ee & o A g
5:43R7: 6% FqUA § W W E, IR AA a4 | O 791 39 H A

m#mmaﬁ:ﬁﬁmﬁma}sﬂ (3 4 6 J[4/ 5 7/]
= $——t
et W ot ger 3 o ¢ o 4437544 7+6) (453 554 746
( N 7
(a)iil)(iii) (3 4 6)(4.5 7
\7 9 13)\7 9 13 15 8Tl Te"
(
o (L3248
374 6)\4 5 7

(c) (1+1+1): (3+4+—

o (sl
1 9 13/\7T 9 13

p=

:uf = \J =
- | Easy Notes 4u l jg
Online Study * =
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Consider the following statements:
atenferfiaa swa=l o fa=m sifaa:
(A) A succession of numbers formed and

arranged in a definite order according to
certain definite rule, is called a progression/

&fqua fAfga fFadl & 3ar s demnst &
M3A 3R AGEfHwT (v giafyga wa #) goft
(STUYH) FEAT 21
(B) Two numbers are said to prime, if their
H,CF, is QR_d&ad we-3wsd  dedd
FEATR & 3R 391 TeaH THTadS ()2 |~
(C) A number is divisible by 0, if the sum of its
digits is divisible by 9/37R f&t dw=m & i
&H I 9 F 9 g df g8 G ot o ¥ aifsa
gl St
Choose the correct statements from above :
Hrer fau v faeeat § wd 39T &1 waT @it
(a) #A) and (B) only/av_cl?'l (A) 3R (B)
\;/EA) and (C) only/&ad (A) 31 (C)
(¢) (B) and (C) only/&ae (B) 3 (C)
(d) (A,) (B) and (C)/Faa (A), (B) 3R (C)

O




Consider the following statements:
srenfeiiad sa=T Ut faum &fa:
(A) A succession of numbers formed and

arranged in a definite order according to
certain definite rule, 1s called a progression/

Fha ffEa fad & SER Hhs Sems &
T34 3R Faediwr (v gfafga s §) gof
(SITIeT) FHEeArm 2|

(B) Two numbers are said to prime, if their

H,CF, is 2/3 W&E WR-39Sd T4
FEA & 3R IAHT HgaH THYadS 2 2|

(C) A number is divisible by 0, if the sum of its
digits is divisible by 9/37R f&dt d@w@m & i=i
H I 9 H Wsg 2 df 98 dE ot o ¥ wifsa
g1 Sraaft

Choose the correct statements from above :

= fau o faereut ¥ W&t 39T &1 99T @it

(a) (A)and (B) only/aa_tﬁf (A) 3R (B)

(b) (A) and (C) only/&Haa (A) 31 (C)

(¢) (B) and (C) only/&aa (B) 3T (C)

(d) (A,) (B) and (C)/&ad (A), (B) 3R (C)

Ans. (b) : Wlﬂ%ﬂﬂﬂméﬁmm Eie
¢ FfE T G | A e Fa §
e S, | 2

v

= =
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-L
Given below are two statements : _ _
ot she feu o §:

Statement I — If we infer ""Socrates is a man, \ \‘
because he is mortal" we commit the fallacy 5{}
named as sadharana by Classical Indian /
Logicians.

a;m(l):amtzﬂaﬂﬂmﬁ ‘gHUd TH
‘%aﬂﬂﬁﬁagmwﬁﬁ%u”gnun?ﬁa\/
IITET aTfdhehl o6 ST ‘HIEIRUT' 2Ty E H I 21

Statement Il — An inference is fallacious if the
middle term is found to be common to both the

major term and its opposite. Such fallacy is
named sadharana.

AT 11 : Ush STIHTT UTHh &i4T § 37T " U,
ug@uamw%iﬁm'ﬂ?ruamm@r,/
THT FTETHTH [T’ FraT 8

In the light of the above statements, choose the
correct answer from _the options given below :

wHAT o ATAleR W, e g faeRear

o IET HT ST HITHAT:
(ay Both statement I_and statement Il are true
FUT 1 3T 11 ST 9T 8 |

(b) Both statement I and statement Il are false
HAT 1 3R 11 =41 379 &)

(c) Statement I 1s true but statement 11 1s false
HU9T | F @ dfehd &= 11 379 21

(d) Statement I 1s false but statement 11 1s true
HUT | 37T 2, Afhd o9 11 IHF 2|




Given below are two statements :
rer 21 s fau o §:

Statement I — If we infer ""Socrates is a man,
because he is mortal'' we commit the fallacy
named as sadharana by Classical Indian

Logicians. =5

wAaT (1) : W W ITTATA ‘Rt Uk
HEAG § Hdifer g8 WIO9ier 8177 89 9

m@wmﬁr@r%gm WIENRUT’ FaTaTd o I 8l

Statement Il — An inference is fallacious if the
middle term is found to be common to both the
major term and its opposite. Such fallacy is
named sadharana.

&= 11 : Ueh TFHTT WUTHS: &84T 8§ 3 Wed ug,
ygE ug T suds faufia ug @t Suafis
THET TEATHTT  WTEnoT’ grar 81

In the light of the above statements, choose the
correct answer from the options wen below :

T o 3McAleh |, =ﬁ%

o o 9E 39T T 9a9T

(a) Both statement I and statement 1l are true
HA 1 3 11 24T e 2

(b) Both statement I and statement Il are false
HIT 1 3 11 a1 3 75T 2|

(c) Statement I i1s true but statement Il 1s false
FUT | G 2 Afehd H99 11 3759 2|

(d) Statement I 1s false but statement Il 1s true
HAT | 379 8, dAfhd T 11 IHF 2|

L2

) — i — . T

Ans.\(a'f: 7
T faui W 3V 2 7 o e e A
TR~ T A ¢ it ag T 2|

7 [ 7 a9 ¥ W 9, 98 R A
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The space program deserves increased
expenditure in the years ahead. Not only does @
the national defense depend upon it, but the
program will more than pay for itself in terms
of technological snipoffs. Further more, at
current funding levels the program cannot
fulfill its anticipated potential''. What is the
conclusion in the above argument?

ShHTUsh daiela saa ot
ara %1 9 chaor UEE g9iam & 39 uv fad g,
arfuqg a8 hrdshd AchHITch-aU9T & ®U H 370+
amueRt oft @ga &H® AT B W Afaiww
gaigarTta Ea g-{- u'{‘qﬁug 2
qrarea aa ahY Hahdl &l
Iuzdh gfvs B TRuTT ST §2
(a) The national defense depends upon the space
programm@ﬂwalﬁ%mmﬁ‘ﬁ 2l
\/G) The space program deserves increased
spending in the years ahead /

3Tafier FHrdshHy gardd =39 &1 9= 2|

(c) The space program will more than pay for
itself in terms of technological snipoffs./
-AUY & ®9 H @I W]

=g 4§ 31fes g9 ST @

(d) At existing funding levels the space program
cannot fullfill its anticipated potential
fAfgepor T W sraRe wdsA gatgari—d
rreT &I G FE Y Gehdl 2 |




All mortals are mean,
Socrates is mortal %
Therefore Socrates is man. \

ot myorsfier araa 81

Tehla AYUTyier 81

AT GahiTd AT 81

Which of the following statements are true of
the above argument?

HUAT H 9 Sudwh gith o 9= o
= | T 872

(A) Above arguments is sound

Sudsh it e 2|

(B) Above argument is valid

9w gits o 21
\/6) Above argument is fallacious
gfth g 2|

(. Above argument commits the fallacy of
undistributed middle/39dw Ifth 3faala a=a
FETHE H 95 2|

Choose the correct answer from the options

given below :

et fau 1 faeseal @ 9 @d S9 @1 wad

(a) Only (A) and (B) are correct

Fad (A) 30T (B) 91 &
(b) Only (A) 1s correct /hae (A) 9a1 g
(¢c) Only (C) is correct /ehad (C) Tat 2

(d) Only (C) and (D) are correct
Fad (C) 3 (D) T & \/




All mortals are mean,
Socrates is mortal
Therefore Socrates is man.

T+t ToTviter wrEE §)

et HIUTYiier 81

FUfAT GahdTd AT 2

Which of the following statements are true of
the above argument?

frafafaa wa=t § ¥ Sud gfve & =T |
&= H T 87

(A) Above arguments 1s sound

Iudh gfth gfnges 2

(B) Above argument is valid
39w it safoTs 2

(C) Above argument is fallacious

3uds gfts gms 2

(D) Above argument commits the fallacy of
undistributed middle/3ud JIfth faafa a=x

FAE 9 9€ 2|

Choose the correct answer from the options
glven below :

ﬁ'qﬂqﬁlar«u“rﬁﬂwé’rwaam
ahifeTy:

(a) Only (A) and (B) are correct

Fad (A) 31 (B) T8 &
(b) Only (A) 1s correct /e (A) T&1 2
(c) Only (C) is correct /&ad (C) Tl @
(d) Only (C) and (D) are correct

ad (C) 3R (D) Tl &

Ans. (d) : 9 SOl A G £ A e
TR TR 2|

WWW
ﬁmﬂ@ﬁﬁﬁﬁm 2|
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Given below are two statements :
Hrer 3 o= faw o §:

Statements 1 : Every thinkable is nameable,
because it is thinkable". This is a fallacious
arguments because there can be no inference
where the minor and the middle terms are the

same.

FUF | ; v faemfa g, s g,
aa‘tfﬁuzﬁamﬁum”wqa ue gfth §
iifeh aEl ST B 8 & Wehal W@l AT 3
" Ug U &

Statements Il : The fallacy committed in this

statements is called the extra-ordinary
(asadharana) because the middle term does nu( \0\ )

belong anythmg other the present minor term.
FAT 1l : W FUT W YITH ¢AIHTE @
3THTEITIOT m AT § iR Wed Ug adure
Thw%ua & afaftes s fordft ang & wrafoum
EFiR]

In the light of the above statements, choose the
correct answer from the options lven below

mﬁﬁm%anﬁh?ﬁﬁ Hrer
WE 3T &1 A hifau:

Both statement | and statement Il are true

HIF | 3R 11 24 FF 2|

(b) Both statement | and statement Il are false
HI9 1 3 11 1 319HF 2|

(c) Statement I 1s true but statement Il 1s false
FI4 1 94 2 Al &9 11 3794 2|

(d) Statement I is\false but statement 11 1s true
HU9 | 39T 2, Afehd F9 11 9 2|

NP




Given below are two statements : In the light of the above statements, choose the

et 2 e o T g: correct ;:;:t;; from the g?t_jﬁ)%s gwée:lgelow :

Statements 1 : Every thinkable is nameable, . .
because it is thinkable". This is a fallacious 5 & W&l ST ol =& hifoTw:

arguments because there can be no inference  (2) Both statement I and statement IT are true

where the minor and the middle terms are the &9 [ I 11 3 54 2|
same, (b) Both statement l_and statement Il are false
FUF | ; v faemfa g, s g, HI9 | 3 11 3T 319F & |

it ag faemufa §1” og v& wwe giw & () Statement I s true but statement IL is false

iifa agt ST B @ T T e o siw HI 1 GF @ dfehd H97 11 3189 2|
WA IS U & &l (d) Statement I 1s false but statement II is true

FI9 [ 379F 2, dAfhd FI9 11 59 2|

Statements Il : The fallacy committed in this
statements is called the extra-ordinary

/
(asadharana) because the middle term does not [Ans. {(a) “Fd& fouruiim g, sfygaras 2, Fife I8
belong anything other the present minor term. famoig 217 9% % 9 ﬁﬁ-ﬁ 2 Fifs a@l HHH gl
FOA Il : 30 FIT W YGh SN @ | T whar sl A7 3R qed U2 U & @1 6 8, 59
JWMLRT FHE A@T § Fih WeA UG qAWH (39 F99 H ¥ g i STHURVT Fgl Sl & Fifeh
or ug & afafier o et o @ wafue (7 12 adaW T 92 & fafie e fER a9
T & grafyd 781 1 9T 21 3a: &9 1 3% 11 241 T 21




Given below are two statements:
Hr=r 1 = fau o €

Statements I : Naiyayikas define upadhi
(conditionality) as the necessary relation of
something only with major term but not with
middle term.

HAT I: ATk IUTE ohf W& Ud o 9T T8l
afug g _ug o Wy foRdt 9 o siavaeh
&= & ©0 O g9y shid g1

Statement Il : Accoridng to Naiyayikas
wherever the major term is only conditionally
true, it is invalid and the conclusion drawn
from it cannot be valid. .

IFEAR GguTd_ug chat ot
Aufaa=r_®q § 9O &, dg 37del g 3N 399

Fraster 7o Fremd der 9 & @ 8

In the light of the above statements, choose the
correct answer from the options given below :

IUITh hUT oh 3Mclleh |, e fou 1o faesear

o T 9El 3T T I9T Rt

(a) Both statement I and statement A are true
&9 1 3 11 S T 2

(b) Both statement I and statement Il are false
FH99 1 3 11 SET1 3159 2

(c) Statement I 1s true but statement 11 1s false
FHUT | GF ¢ dAfehd Ha9 11 379 2|

(d) Statement I is false but statement II is true
HU4 [ 3G 2, Afhd Ha= 11 9 2|




Given below are two statements:
fr=r Sr == fau o €

Statements X 2 Naiyayikas define upadhi
(conditionality) as the necessary relation of
something only with major term but not with

middle term.
w AT 1: IqTEr aht W U< o 9 rer gl

fug gur ug & Wi fadt avg & savas
TIE=T & ©9 § giyarya &ia g1

Statement Il : Accoridng to Naiyayikas
wherever the major term is only conditionally

true, it is invalid and the conclusion drawn
from it cannot be valid.

TJ=TfaeRt @ AT WETH ug Wal kel ot
Aufaa=r ® 9 H T g, dg 379 g 30T 3@ 9
forerTer 7o foressd Jer =T 8 @ahda 2

In the light of the above statements, choose the
correct answer from the options given below :

IUITh Shed oh ATAlah |, = feu 7Tu fasmsear

o O &l 39T T ST Shifsog:

(a) Both statement I and statement Il are true
HI9 [ 3R 11 41 9 2 |

(b) Both statement I and statement Il are false
H99 1 3R 11 A1 37599 2|

(c) Statement I is true but statement 1l is false
HA9 [ 9 2 Afepd Ha9 11 379F 2 |

(d) Statement I 1s false but statement 11 is true
FHUT [ 3T 2, Afhd HAT 11 THF 2|

):ﬂmmmaﬁmqaéamﬂﬁwﬁg
TN & 9 f 9 & HevE e & R
ofenfi &0 £ 7o T & SR W R
o gofoers 9 8 0 2, 3 9 § o I A
fye a4 78 7 W )

3 & & T g
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Which of the following is a special type ofl 2
Computer Virus that fills a computer system
with self-replicating information, clogging the

system so that its operations are slowed or
stopped?

ﬁnﬁ?a@?ﬁﬂw@ﬁﬁv%m?mm
arisid iy frew Wd: mﬁ’f
oAl # W <T ¢ fed 3ae @ an o et
g WA § A1 aQ &l A 87
(a) Firewall /&R dfd@  (b) Keystrokem@ﬁ

qc) Worm/@d ) (d) Zombie/SiHl
—




Identify the correct order of the following

" r);)/
computer storage capacities ranked from o
smallest to largest capacity.

FHITET WUSHUI AT o AMUR W P ¥ a3
WUSH & WEl %W i Tge il

(A) 1500 M bytes/1500 5 1328

(B) 5K bytes /5 foel argeH

(C) 1G bytes /1 7 a13eq

(D) 2T bytes /2 @IIHT’&'{H

Choose the correct answer from the option
given below :

et fou U foeat W WE I T A it
4) (B),(C),(A), (D) (b) (B),(C),(D),(A)
(c) (D),(C),(B),(A) (d) (B),(A),(C),(D)




Identify the correct order of the following
computer storage capacities ranked from
smallest to largest capacity.

HE WS U & WU W T | a8
WUSH & W& W & Tga il

(A) 1500 M bytes/1500 T 529

(B) 5K bytes /5 feretl ared

(C) 1G bytes /1 T aTZ2H

(D) 2T bytes /2 3(13138}1

Choose the correct answer from the option
given below :

Frer fow T ferereat W WE 3T B WA Hif
(a) (B), (C),(A),(D)  (b) (B),(C),(D),(A)
(¢) (D), (C),(B),(A) (d) (B),(A),(C),(D)

Aus. (o) : T2 GO 4 & R, 9§ 9
UE & 8 7 ¢
.5 ol TRem

.| 1T ZH

- 1500 ¥ TEZH

) 3T T




With respect to Computers, which of thel @
follnwm%are permanent storage devices?
= o frafafea § 9 @ s

WUSHUT WL (WHTHE RS fgargy) 872

AA) Pen drive/d Ea
%arﬂ disk/zTe fem
) Compact disk/@iriae fetah
(D) RAM/3TRu.Ud. (1)

Chose the correct answer from the options
given below :

Hrar fou 7o fawedt ¥ ¥ W I @ wEA
it

(a) (A), (B) and (C) only/&ad (A), (B) 3R (C)
(b) (B), (C) and (D) only /&a@ (B), (C) 3R (D)
(¢) (A), (C) and (D) only/&ad (A), (C) 3R (D)
(d) (A), (B) and (D) only/&a (A), (B) 3 (D)




With respect to Computers, which of the
followm are permanent storage devices?

= | frafafgd o 9 o wwd
m'mm WA (e =R feard) 87
(A) Pen drive/dT g1Za
(B) Hard disk/aTe Tt
(C) Compact disk/&iae feen
(D) RAM/3TRTUW, ()

Chose the correct answer from the options
given below :

Hrer fau U fawew § @ WE I @ wad
CalE

(a) (A), (B) and (C) only/& (A), (B) # (C)
(b) (B), (C) and (D) only /@@ (B), (C) 3R (D)
(¢) (A), (C)and (D) only/&aa (A), (C) 3R (D)
(d) (A), (B) and (D) only/&a (A), (B) 31 (D)

\Am{):wga%mﬁﬁqysaaém,ﬁaz
for Tt e e 21 S & AN s Al
A o ol B o B i
$0¢ TG 3 T 2

772 v WE
- N\
- || Easy Notes 4u l jg
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By the year 2020, one of the targets in
sustainable Development Goals is to reduce @
global deaths and injuries from road traffic

accidents by

a¥ 2020 T, unviig fawm @ea & R,
UeH AW e W AYE T T e
&I ferae wiergrer e 87

) 33% (b) 40%
() 50% D N/ (@) 25%




By the vear 2020, one of the targets in
sustainable Development Goals is to reduce
olobal deaths and injuries from road traffic
accidents by

a¥ 2020 7@, YWY fow 7 & R,
Wew T e ¥ 4y U W e
3 F v e )

(a) 33% (b) 40%

(c) 50% (d) 25%

.m/) mwaﬁmﬂimﬂﬁwzo

i el ¥ ST g% e s o 39
W Al ST R R i 7 41 58
& R, @ 2000 T, i W 9 A R,
T A e 4 A 9 9 A S

313V T2 2




Which of the following is perceived relatively a
low rise problem in the context of human
welfare?

frefafgas @ ¥ &9 W & & W |
AT B T HH TRGH ATt U & 0 §
W 7
) Radionuclides
et A @ (fefre)
(b) Airborne toxins
g fave vard (wsrar i)
(c) Stratospheric  ozone depletion/&?ﬂ'ﬂ“‘&'.?ﬂ'ﬂ
IS & (Rerehifis 3o fewtom)
(d) Habitat alteration and destruction
e uRadd ud faam (gfade sty ug
ferzam)

1‘.




According to WHO standards for drinking
water quality, the concentration of Arsenic

should not exceed :
fay @wer TeH & G JET 0 T
& Ta & fou o @ wmr @
e R

2) 10 ugL” (b) 6.0 gL

(c) 5.0 pgl” (d) 1.0 gL’




According to WHO standards for drinking 2\/"(
water quality, the concentration of Arsenic
should not exceed :

Lol

fay wawer WEA & WE & SN
& TWaE & fou o @t wen @

s (1 ?a @ T (WHO) & W1 & 7
9 @l 0 & o e @l o dOl '
i 7 g i e v T & e g

7% 0, 7 &%, 737, W U 1 o i O
s 7AW e AT A A G

Aty TE gt g
(a) 10 gL (b) 6.0 gl
(¢) 5.0 pgl” (d) 10 gl




During a combustion process, the following air @ \)\D @/"W}
pollutants are produced : }A %
ysed i Uithar @t safar W faefafaa E
-YQue SedTiad aid 82
) Nitric oxide/ATsfeah ATaaTEe
\M Nitrogen dioxide/AT3ZIo ST3TaATZE
(C) Nitrous oxide/AT3EH ATaAZS
\(})')'Carbon monoxide/Taa WIATGFATES
(E) Ozone/3TSH

Choose the correct answer from the options
given below :

Hdrer fau U faeeat @ @ W I @ wEA
ife:

(a) (A)and (C)onlyfaﬁﬁ (A) A (C)

(b) (A), (C) and (D) only/&aa (A), (C) 3R (D)
() (B), (D) and (E) only /& (B), (D) 3R (E)

(d) (A), (B) and (D) only /&ad (A), (B) 3R (D) \/




The "Vision statement" of International Solar
Alliance is

G W Agerd (Wi ) & gy Afwwe g
(a) Let us together make the world a better place
o0 U 1Y e 39 3 i deat ®H &)

\/(6 Let us together make the sun brighter
¢H U 19 et G 3l 3 el st

(c) Let us make the world more energy efficient
e U WY foee g & SR i-ge
0|

(d) Let us have a carbon - neutral world

gH §d U de-g2d gar




£\

The "Vision statement” of International Solar Anwm W TN W Ay
Alliance is AT S W TR 2| 3 v 3w Ao
ST W W (W0 ) 0 W SR | o 3 v 3t e @1 W a9 3 o e
(a) Let us together make the world a better plaEe T & W & B9 A 3 FA & I § M a5 3
b wazwsf@i:ijhwm M daw W A i @
(b) Letus together make the sun brighter * AT AR Weed (V) 9 39 o 8-
W@qumﬁmmm' T 0 W e T S e a
(c) Let us make the world more energy efficient
W W R A e
It |
(d) Let us have a carbon - neutral world

T T UF FH-ga gl




Given below are two statements : One is@m (A) : e B Ay 2020 3

labeled as Assertion (A) and the other is
labelled as Reason (R)

Assertion (A) : National Education Policy 2020
has  recommended for  setting up
Multidisciplinary Education and Research
university (MERU)

Reason (R) : MERU will aim at attaining
highest global standards in quality education.
In the light of the above statements, choose the
correct answer from the options given below :

o T @ for W § i
(Assertion A)%Wﬁﬁfﬁﬂﬂ%ﬂ’f{ﬂﬂm
@I (Reason R)%mﬁl

aﬁwmaﬁmaﬁ%u
HA (A) : MERU F(Zeva Ypurawmgut forear &
Jouad ATY® W YT AT &I

In the light of the above statements, choose the
correct answer from the options given below:

ST AT & AT W, e fou T faeme

W W WE I T R

(a) Both (A) and (R) are true and (R) is the
correct explanauon of (A)/(A) 3 (R) g
T € 3R (R), (A) 1 TE A 2|

) Both (A) and (R) are true but (R) 1s NOT the

correct explanation of (A)/(A) IR _(R) B
T § afd (R), (A) F T8 ame 78 2

agferaas ot wd v fagfEmem (MERU) — VQ'GQ'

(c) (A)istrug but (R) 1s false \ T N -
(A) ¥ 2, oifd (R) 394 2| * E‘T:']”
(d) (A) s false but (R) is true L Online Study ‘;’@

(A) 394 2, wfd (R) 9 2|




Given below are two statements : One iS|  Zfream foram o wwer foraferamarer (MERU)

" ' T TATAAT W TIIAT BT T
labeled as Assertion (A) and the other 15| == (A) : MERU =T 3%va wurarenguf forgr F

labelled as Reason (R) St Afe W wre T gem

In the light of the above statements, choose the

Assertion (A) : National Education Policy 2020 |  sorrect answer from the options Eiven below:
has  recommended for  sefting wup| FF=E I S =

(a) Both (A) and (R) are true and (R) 1s the

idiscipli . correct explanation o T =11
Ml.lltldlisuplmary Education and Research Socnec ckplanation: of (A)/CAD 'S8 GR)
llﬂlVEl'Slty (MERU) (b) Both (A) and (R) are true but (R) is NOT the
: ! 0 2 correct explanation of (A)/(A) 31X (R)
Reason (R) : MERU will aim at attaining - ff:if tﬁfﬁﬂme s (5, ;&i:ﬁmqﬁ%-
highest global standards in quality education. @ D E??aie @rﬁb el e 2
In the light of the above statements, choose the / (A) 379 3, af (R) T 31

correct answer from the options given below : | [Ans’ (b) : W= gg e Eﬁgzgr; g %%’r T

' srvre agfawas e ud aferarerat
o E’f % ﬁﬂrm: %’ U CIRCRE Ww%mﬁ%mwmmmﬁ
(AssertionA)%Wﬁm%ﬁwm Wwﬁvﬁa@mﬁm(wmﬁﬂﬂmm

@MW (Reason R) & & | ijﬁgﬁaﬂ Tl e %) 0 Seded F 3% forg e

o S

f 12

»




Objective of Open Distance Learning (ODL)
and online programmes are :

gﬁwﬁrwaﬁtmm%ﬁw

\)A’) To improve access to higher education
Ioa Orar &t arfaes gorw |
(B), To increase gross enrolment ratio (GER)
\/mmmar—r 39U (GER) ¥ gfg &em
(C) Ao provide opportunities for lifelong
\Aarning/:ﬂﬁﬁm FETH & EET WS
ah{AT
(D) To make education innovative
T =t Far=rdt F=TET
(E) To improve the quality of education
e &t uTaTT § GEW AT
Choose the correct answer from the options
given below :

ﬂ%ﬁqmﬁmﬁﬁﬁ@mwm
hifaTa:

(a) (A), (B), (D) only

b) (B). (C), (E) only
C (©) (A), (B), (C) only P \/
) > 5 y

9




Objective of Open Distance Learning (ODL)
and online programmes are :

gﬁ o Torerr 3T ifcie wrdshdl & 389
(A) To improve access to higher education
oo e @t siftre garw g
(B) To increase gross enrolment ratio (GER)
Waho! ATHIA 39T (GER) ¥ gfg &ear
(C) To provide opportunities for lifelong
learning /3TSfa Mo & 3@@T Wa=
h{AT

(D) To make education innovative

e =t AT S=TET
(E) Toi |mprove the quality of education
forem &t TuTaTT § U @0

Choose the correct answer from the options
given below :

Hrar fqu o faweut § @ Wl I @ www
Eﬁﬁl‘l{:

(a) (A), (B), (D) only

(b) (B), (C), (E) only

(¢) (A), (B), (C) only

(d) (A), (B), (C), (D) only

Ans. (¢) : T 304 fR (ODL) 3R SHeed FTem &

R ¢

- 359 o 1 e o &) \/
- Heel A WA (GER) # 3G F

- JTofted AT & W Yo F)




Objective of Open Distance Learning (ODL)
and online programmes are :

‘g?ﬁ greer forarr i rfaes wrdshul & Sevd
(A) To improve access to higher education
Ioo forem &t 3rfares gerw F=r=T
(B) To increase gross enrolment ratio (GER)
Wehe! ATHIeR 31991 (GER) ¥ gfag AT
(C) To provide opportunities for lifelong
learning /3Tsiia  3finmy & 1@@AT =
ah{AT

(D) To make education innovative

orer /1 Far=rdT J=TET
(E) To improve the quality of education

forear &t IuTaET ¥ EW @
Choose the correct answer from the options
given below :

Hier faw 7 faemeat § ¥ W I @ wadT
a—ﬂ'ﬁ-l'l{:

(a) (A), (B), (D) only

(b) (B), (C), (E) only

(c) (A), (B), (C) only

(d) (A), (B), (C), (D) only

®




Students from socio-economically disadvantaged

background require following supports in
order to make successful transition to higher

education :
wmTtses - i wu ¥ dfud ysai # 3
& fou f=fafea g A AHAT
Bt 1
%) Financial support only/&aa fa<ia ggmar
\Q)?)' Financial and academic support only
oo fadta ud vifers geraan
\A€) Affirmative action policy/FHeTE Hd Hifa
(d) Technical support only [hael deh-Teh! TR
\? Career counseling only/a-;_ci?-r HRE gt
ho

ose the correct answer from the options

%g:nbelow: o
fou 7o fasweal ¥ ¥ W IWT @1 wSA

(a) (A) and (B) only
(b) (A), (B) and (D) only

(¢) (A), (B), (C), (D) only \/
,R(B), ((2', (E) onJyD o




[n which level of teaching there is optimum
scope for cognitive interchange requiring
analysis and s%nthesis?

7 fem WA A
st @t geam Taew At ¢, fows fore
ferweran 3i wveow afim @i 27
(a) Memory level teaching/Sjfd ¥ f¥reur
(b) Understanding level teaching/3/@@y &

faT
\L(r Reflective level teaching/faﬂ?ﬁ TR fe

(d) Autonomous development level teaching/

e fadm wa




A university teacher proposes a research \ — . 7/.;,‘2;(3,
project on why parents are apathetic to the /gb ¥ \y = —

university programmes. Which of the following
research methods will be most appropriate for W

the project? A
fayferemea &1 t& e 30 an # U@ vy

uRarsr yarad @ § & Cumer-far
fagfaame & wrdwu & yia @ Seef Tad
2?7 frafafa @ 9 @adt fafa ga oftarsa
o for wartfireh SUgeh Bt

(a) Experimental method/¥armeTs fafyy

(b) Historical method/tfeTie; fafer
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